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Q)When bundle conductor are used in place of single conductor the effective inductor and capacitance will

respectively--> decrease and increase.

Q)Why ACSR is used in case of transmission lines?--> Lighter and have more mechanical strength.

Q)Flux linkages due to internal flux is independent of the -------------> conductor size

Q)The conductor of a 10 Km long single phase, two wire line are separated by a distance of 1.5 m the

diameter of each conductor. The inductance of the circuit is--> 23.8 mH.

Q)Electric stress is expressed in terms of--> kV / cm

Q)Bundled conductor are mainly used in high voltage overhead lines to--> reduce corona.

Q)ACSR conductor means--> aluminum conductor steel reinforced. i *

Q)The function of steel wire in a ACSR conductor is--> improves mechanical strength.4-%_ 9,

Q)Inductance of an overhead line, in comparison to that of a cable of same capacityiis’:ﬁ I.‘?ﬁsrﬂ'

Q)The inductance of a single-phase two-wire line is given by (D is the distance tenduétors and ris
D mH [kem ““—'

the radius of conductor)--> 0.4log. ™

Q)Bundled conductors are mainly used--> To decrease the series reactance

Q)A 3-phase transmission line has its conductors at the corners of an®gguilate ngle with side 3 m. The

diameter of each conductor is 1.63 cm. The inductance of the line‘per phmase per km is--> 1.232 mH

Q)The inductance of single phase two wire power transmissi&n®ine per k ts doubled when the-->

Distance between the wire is increased as square of the c‘rig' al'di :n&

Q)Skin effect--> Increases the effective resistance but¥gduces effective internal reactance

Q)In high voltage transmission lines the top most condu Fﬁ:fg earth conductor.

Q)Which of the following properties has got higher_hvalﬂq luminum in comparison to that of copper?-->

Electrical resistivity L LLL ‘ll'
.ﬂ:ge

Q)The self GMD of a conductor with three str ach ®ef ¥adius r and touching each other is-->
r(0.7788x2x2)"/? ~ .‘ff‘-‘,. nD

Q)For a stranded conductor, the ratio @f GWR tm‘ha'e:puat radius is--> less than 0.7788

Q)Capacitance in equivalent circuit of a sthission line is due to--> different in potential of the line

Q)If the separation between the tf?e pha of a transmission line is increased then--> the inductance

will increase and capacitance gcrease
Q)The inductance of a trama:mi r is minimum when--> GMD is low and GMR is high

Q)The PU impedance v@JEe‘ of an rnator corresponding to base valus 13.2 KV and 30 MVA is 0.2 PU. The
PU value for the base valu®s 13.8 KV and 50 MVA will be:--> 0.306 PU

Q)For a cunductnr"q}f?a‘ i I'Eu?ahd having a sparation of D in between the conductors, the value of
inductance--> ifqﬁeﬁqu :

Q)The induc’t'!gc‘;e mh{ower transmission line increases with--> Increase in spacing between the phase
conductors «

Q)If spacing between the conductors is decreased, the inductance of the line--> Decreases

Q)!f the conductor diameter decreases, inductance of the line--> Increases

Q)If the capacitance between two conductors of a 3 phase line is 4 F, then capacitance of each conductor
to neutral is-->8 F

Q)The presence of earth wire in case of over-head lines--> Increases line capacitance

Q)Transmission lines are transposed to--> Prevent interference with neighboring telephone lines

Q)If the conductor has larger diameter the corona losses-----------> reduces

Q)The charging reactance of 50km length of the line is 1500Q. What is the charging reactance for 100km
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length of the line?--> 750 Q

Q)If the effect of earth is taken into account, then the capacitance of line to ground--> Increases

Q)The charging current in a transmission line--> Leads the voltage by 90°

Q)What is the self GMD of a conductor having 7 identical strands having radius r is--> Equal to 2.1767
Q)In a single phase or 2 wire dc line, the loop resistance is--> Double the resistance of single conductor
Q)When a fixed amount of power is to be transmitted, the efficiency of transmission increases when-->
Voltage increases, p.f increases

Q)The separation between the three phases of a transmission system is increased. The effect on line
inductance (L) and line capacitance (C) is--> L will increase and C will decrease im

Q)The capacitance of a transmission line is a--> Shunt element *’.—"[ !‘

Q)The multiplying factor of 0.7788 to adjust the radius in order to account for mterna'f[ux ihnhages applies
only to ---------- conductors.--> Solid round l -

Q)The reactance of the bundled conductors is -----------—-compared to solid ¢ L?gtc-rs -l's- d'hetreased
Q)Inductance of a conductor is minimum when--> GMR is High ‘h.‘..:

Q)A three phase transmission line has its conductors at the corners of an eqUilateral triangle with side 3m.
the diameter of each conductor is 1.63cm. the inductance of the line'| phase km is-->1.232mH
Q)The alternating magnetic flux in a conductor caused by t urr‘aﬂt floWing'ih a neighboring conductor
gives rise to circulating currents which cause an apparent n:%;%%m‘l'be resistance of the conductor. This
phenomenon is called as--> Proximity effect
Q)If the conductor diameter decreases, inductance of Iﬁe—-#‘ﬂech&ses

Q)The inductance of single phase two wire power transm ‘Hndgle per Km gets doubled when the--> The
distance between the wires is increased as squar&nf“éniu istance

Q)When an alternating current flows in the E:J:IEIH% ter filaments of the conductor carries more
current than the filaments closer to the cen{re and this mmonly known as.--> Skin effect

Q)A three phase, 50 Hz fully transposed lige has‘_r;nnﬁa%mrs spaced equilaterally at 3m. find capacitance to
neutral per km per phase--> 0.0105F ™

Q)The inductance per unit length of an ;\?&[ hM hne due to internal flux linkages--> Independent of the
size of the conductor P\

Q)Which statement is false for snnﬁasuiﬁ line?--> All line constants are series element.

Q)In nominal T method,-- [&current flows over half the line.

Q)Which combination u?rtrue‘fur tlines?-->A=1,B=2Z,C=0,D=1.

Q)------------ is defin ngnge in receiving end voltage, expressed in persent of full load voltage, from
no-load to full | ad‘lﬁ sending end voltage and frequency constant--> regulations line

Q)The mncept ﬂ!@ ctrically short, medium and long line is primarily based on--> physical length of the
line.

Q)The main consi elatmn for higher and higher operating voltage of transmission is to--> increase power
transfer capability.

Q)If the capacitance between two conductors of a 3 phase line is 4F, then capacitance of each conductor to
neutral is-->8 F

Q)If the inductance between two conductors of a 3 phase line is 3mH, then inductance of each conductor
to neutral is--> 1.5mH

Q)66KV is suitable for transmission of power over--> 60km

Q)The material used for the manufacture of ground wire is--> Galvanized steel

Q)ASCR is used in place of copper in overhead lines because of--> Economy
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Q)Guy wire is employed for--> Supporting the pole

Q)The voltages at the two ends of a line are 66 KV and its reactance is 30 Q. The capacity of the line is-->
145.2 MW,

Q)Tap changing transformers can be used to improve ------------ > voltage profile

Q)The capacitance effects of short transmission line is--> negligible.

Q)Up to what length of transmission line the capacitance can be neglected?--> 80 Km.

Q)Hollow conductors are used in transmission line to--> reduce corona

Q)Which of the following is neglected while analyzing a short transmission line?--> Shunt admittance
Q)Which of the following voltage regulation is considered to be the best?--> 2% a;'-

Q)The regulation of a line at full load 0.8 pf lagging is 12%. The regulation at full Inad @Sﬁ Ieﬁmg can be--
> 4%

QJIn a transmission line the distributed constants are--> Resistance, mductance-t'a‘i:lthqnce%nd shunt
conductance

Q)The effective resistance of a conductor will be the same as ohmic resista whu‘n.;-)iurrent is
uniformly distributed in the cross section of the conductor

Q)The diameter of each strand is d then the diameter of n- Iayer stra d cund‘ﬁfﬁ will be--> (2n+1)d
Q)Bundled conductors reduce--> Surface electric stress nf

Q)The ABCD constants of a 3 phase transposed transmlssmn E nd passive elements--> A and
D are equal ‘a

Q)For a medium length transmission line, A is--> Equa

Q)For a two port linear passive bilateral network whieh o f-auﬂwmg condition is true--> AD BC=-1
Q)The units of parameter B is------------ --> ohms .

Q)For a transmission line of length not excee 8 , i}!.r.used to lump the line capacitance at--> The
receiving end T e o

Q)Transmission efficiency of a transmsswf Ima‘rpcrbﬂes with the--> Increase in power factor and voltage
Q)If in a short transmission line, resistahce and inductive resistance are found to be equal and regulation

appears to be zero, then the load will--> ?&DF}? leading
Q)For a short line if the receivi gﬂ umltagﬁii equal to sending end voltage under loaded conditions-->

The receiving-end power factor eiing‘ a
i0d%f a short transmission is--> IR

Q)For unity p.f., the voltagl,
Q)For zero power factﬂr g‘ing, voltage regulation of a short transmission line is--> 1.X,

Q)Negative vﬂltaga f transmission line means--> Vg > Vs

Q)The generalized -!'ri,];ﬁ D of the transmission line have--> No dimensions
Q)The generaliz nts C of a transmission line have--> siemens

Q)As the traf?ms:!‘iu”@altage increases, the percentage resistance drop--> Decreases

Q)The line cnnstaht!,pf a transmission line are--> Uniformly distributed

Q)In a short transmission line, voltage regulation is zero when the power factor angle of the load at the
receiving end side is equal to--> tan™(R/X)

Q)---------=----- compensation causes a reduction in system investment per kw of load supplied.--> shunt
Q)While finding the relation between Vs and Vr, capacitance is neglected in--> Short Transmission lines
Q)The shunt capacitance of line absorbs ------------ vars.--> leading

Q)For a transmission line with resistance R, reactance X and negligible capacitance the parameter A in
ABCD parameters is--> 1

Q)The units of B and C are respectively--> Ohm and Mho
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Q)For fixed values of Vs and Vr the real power depends on ----------------> Power angle.
Q)Shunt conductance in power transmission line is due to leakage over the--> insulators
Q)The characteristic impedance of a transmission line with series impedance Z ohms per unit length and

shunt admittance Y mho per unit length is given by--> J%

Q)Bundled conductors reduce--> Surface electric stress of conductor

Q)Which parameter causes the power loss in the transmission line--> resistance

Q)In nominal m method,--> half charging current flows over the full line.

Q)Which method is the most efficient for the calculation of voltage regulation and efficie aﬂ;‘? nominal it
method el T

Q)Long transmission line has a surge impedance of approximately--> 400Q e T ".,' :

’ET’E: “‘th_.
k

i s,l,gn line having two

Q)In a transmission line of negligible resistance, the surge impedance will be-->
Q)The ratio of capacitance of line to neutral and line to line capacitance of &'trans
conductors is--> 2

Q)In case the characteristic impedance of a transmission line is Equa

energy sent will be absorbed by the load.
:ﬁ:?hge avrg_l

the lo
-
and 0.01 mho respectively.

pedance--> All the

Q)The open circuit impedance and short circuit admittan:e
What is the characteristic impedance of the line?-->
Q)A cable has inductance of 0.22mH per km and capa

nq!e Ufﬂ.-fﬂ?F per km. the surge impedance of the

cable is-->33 Q e ‘14.!.

Q)Which of the following statements is cnrrect?--:lﬁurgq impedance and characteristic impedance for a
transmission line are the same. L LL ‘l,

Q)The characteristic impedance of a trans sion ine Mnda upon--> Geometrical configuration of the
conductors. ® 1~ by

Q)When two lines having constants A,
value of A constant will be--> A; A; + B,
Q)In order to reduce the mductwﬁ;ﬂterfere
conductors are transposed at |at intekval

Q)For a good voltage prnfiﬂi y ﬁg,l;-ad condition, a long line needs--> Shunt reactors at the receiving
end. v .

Q)The surge imped: 3;9 kv, 100 km transmission line is 300 ohms. For a 200 km length the line
surge |mpedani:e mﬂﬁwﬁﬁ‘k ohms

Q)Surge |mpeda!{;emues r cables are--> Lower than those of overhead lines.

B I
Q)The prupagaﬁgﬂuﬁ;tant of a transmission line is given as--> jw oE

Q)Characteristic imp&dance of a cable is usually in the range of--> 40 to 50 Q.
vV

a'l}d A5, B;, C;, D; are cascaded in series, the resultant

$
to parallel communication circuits to the minimum.--> The

Q)The wavelength of travelling wave is equal to--> ©

Q)For a 50Hz transmission line the wavelength is equal to--> 6x10° mts

Q)The velocity of travelling wave in transmission line will be equal to--> 3x10® m/sec

Q)The skin effect does not depend on--> Ambient temperature

Q)Surge impedance loading of a transmission line depends on--> Receiving End Voltage
vi

=

Q)Surge impedance loading of any transmission line is--> P, = “*MW
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Q)As the transmission voltage increases, the percentage resistance drop.--> increases

Q)The velocity of travelling wave in transmission line is--> Equal to velocity of light

Q)A travelling wave 400/1/50 means crest value of--> 400KV with rise time 1s with fall of 50s

Q)A cable has inductance of 0.22mH per km and capacitance of 0.202F per km. the surge impedance of the
cable is-->33 Q

Q)The ABCD constants of a three phase transmission line are A=D=0.8_1, B=170L85Q and
C=0.002.90.4mho, the sending end voltage under no-load condition is--> 500kv

Q)Consider the following statements: Surge impedance loading of a transmission line can be increased by
1. Increasing its voltage level 2. Addition of lumped inductance in parallel 3. Addition ﬂfl

capacitance in series 4. Reducing the length of the line Which of the statements are cokiré t?’-'%l and 3
Q)The surge impedance of a three phase, 400kv transmission line is 400Q2. The surge 1ane cewl'oadmg i5==
> 400MW 1 - "a
Q)If a travelling wave travelling along a loss free overhead line does not res

|Hﬁ£y re‘FLecti'ﬂn after it has
reached the far end, then the far end of the line is--> Terminated into a resistanc lg.uﬁl to surge
impedance of the line

Q)A transmission line can be considered as long transmission line, if itslength eds--> 160km
Q)The circuit constants is a long transmission line are -:Dnsugg; -> ;?lbﬁted parameters

Q)The coefficient of reflection of voltage for a short circuit iS--
Q)Consider the following statements Addition of lumped c@pat‘taﬁ's in"parallel to a loss free transmission
line increases 1. Characteristic impedance 2. Propagat oen‘sta‘ﬂ-t'?,.ﬁystem stability 4. Charging current
Which of the statements are correct--> 2 and 4 ‘o -
Q)For a lumped inductive load, with increase in sung[{k. uégcy as--> P decreases, ¢ increases

15

Q)The charging resistance of 50km length of t . What is the charging reactance for 100km
length of the line?--> 750 ochms
Q)The coefficient of reflection for c&rentqé.}ﬁ'lzppﬂnded line is--> -1

ing nominal T method, the value of constant A is equal to--

Q)In modeling of Medium tran;u:i.?nn line
3

(1+¥2) S

> 2 "1" -
Q)In modeling of Medimfrgr;%ﬁn line using nominal T method, the value of constant B is equal to--

%) A

>
-

Q)In analvsi&gfdﬁmg:gsmissiﬂn line, the method nominal T method is--> Symmetrical and reciprocal

Q)In rigorous s'uq,lﬁpn find the performance of long lines the value of circuit constant A is equal to-->

—_ -~
cosh vEE 5
.
Q)The propagation constant of a transmission line is given as--> vZY
Q)The charging reactance of 50 Km lengh of line is 1500 ohm, the charge reactance for 100 km length of
line will be--> 750 Q

Iz
Q)In rigorous solution to find the performance of long lines the value of circuit constant B is equal to--> ‘l

VYZ

sinh
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Q)In analysis of long transmission line, the end condenser method is--> Symmetrical but not reciprocal

Q)Ferranti effect on long over head lines is experienced when it is--> Lightly loaded
zZ¥

Q)In modeling of Medium TL using nominal m method, the value of constant C is equal to--> Y(1+ * )
QJA long transmission line is said to be symmetrical if the line parameters--> A=D

ey

Q)In rigorous solution to find the performance of long lines the value of circuit constant Cis equal to-->

sinh (X
ciprocal
is equal to--

Q)In analysis of long transmission line, the method nominal m method is--> Symmetri

Q)In modeling of Medium transmission line using nominal m method, the value of cuqnit.a
(1+¥Z)

g B

b |
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